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Current Liabilities
B Current liabilities are debts that can
reasonably be expected to be paid
= From existing current assets or through the creation of other
current liabilifes, &
= Within 1 year or the operating cycle, whichever is longer
———
® | ong-Term Liabilities are debts that do
not meet both the above criteria
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Long-term Liabilities

® Obligations spanning a longer period
= generally more than a year
= e Y

® Generally reported on the balance sheet resent value‘u ing

interest rate when initiated
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B Examples:

Capital Leases

®" How do we compute
= present values?
= interest expense?
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B Nature of current liabilities

® Long term debt
= Nature & types
= Valuation
= Accounting & reporting
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Types of Current Liabilities

¥ Notes payable & other short-term borrowing
® Current Maturities of Long-term Debt
® Accounts Payable
® Unearned Revenues
B Accrued Liabilities

* Taxes

- Income, Sales, Payroll

* Salaries & Wages

* Interest

* Warranties
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Bonds

® A form of long-term, interest-bearing security issued by
corporations, universities and governmental agencies

= Sold in small denominations, (usually multiples of
$1,000) which makes them attractive to investors

® Arein the form of a legal document that indicates the
name of the issuer, the face value of the bonds, the
contractual interest rate, and the maturity date



Bond Certificate
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Bonds

B Nature of claim

= Secured or unsecured [ml Ebh’h{ 4 ﬂé?@fé - L{

= By claims against spedﬁcassets of borrower
= Mostissued by mdus\nalfﬁrla kcompanies are unsecured
= Convertible or not

« Into common stock at the deholdersopllon é(f" 9{ éi‘\fed Cldfm

= Callable or not
= Issuer can retire the bondat a stated price prior to maturity
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B Zero coupon bonds
* No coupon payments
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Interest Rates and Bond Prices

Market Bonds Sell
Interest Rate a
] lssued when
Camncma e Face Value

|m© 0%

2% =3 Discount
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Bonds

" Periodic in’tE.e_s_t_@!‘n_'Ents & face value due at maturity
B e —

" Face value {amount)
= (Principal) Amountdue at maturity

® |nterest payments
*= Couponrate times the face valueof debt

= Couponrate is the interest rate stated inthe note
= used to calculate interest payments

® Market rate of interest

* The rate of interest demandedin the market place given the risk
charactensticsof a bond

\Accounting for Bond Issues

Bonds may be issued at
B Face value
when stated rate = market rate

® Below face value (discount)

when stated rate < market rate

* must discount price to get investors to buy
‘_____,._-——-—_'_—-

" Above face value (premium)

when stated rate > market rate
= all investors want to own so the price is bid up

Accounting for a Bond issued at par
Coupon Rate 6% = Market Rate 6%

® At the time of the bond issue
* DrCash
- Cr Bond Payable

10,000
10,000

" Periodically thereafter

= Cash interest payments= Face Valuex Couponrate

= Bond payable at the present valueof Qgﬁﬂ flows, i.e., {he presentvalue of
interest and principal

= |nterest expense = Bond payable x markellnlerEEra{

= Difference betweeninterest expenseand cash interest paymentis added to
Bond Payable

= At maturity
= Pay interest and entireprincipal balance



Accounting for a Bond issued at par
Coupon Rate 6% = Market Rate 6%

B ati s
What is the present value of the bond? J&'\ V"LUH’ pl» :ﬂ \Hr’ﬂ f
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® Payment stream
= Three annual coupon payments of $600 each
* Principal payment of $10,000 at the end of three years

® Present value
® PV of ordinary annuity, n = 3, r = 6%, Table 4
® $600 x 2.67301 = $1,603.81
®* PV of $10,000, n =3, r=6%, Table 3
" $10,000 x 0.83962 = $8,396.20
* PV =$1,603.81 + $8,396.20 = $10,000 _

Accounting for a Bond issued at par
Coupon Rate 6% = Market Rate 6%

Cash = Bond Payable
Issuance 10,000 = 10,000
Cash = Bond Payable + RetEarnings
2001 (600) = (600)
2002 (600) = (600)
2003 (600) = (600)
(10,000) (10,000)

Zero-Coupon Bond
Coupon Rate 0% < Market Rate 6%

B At the time of the bond issue

Dr Cash 8,396.20
Dr Discount on bonds payable 1,603.80
Cr Bond Payable 10,000.00

B Balance sheet presentation

* Bond payable, gross $ 10,000.00 {.
= Less Discount (S 1,60380) (- Oh (K]
* Net Bond Payable $ 8,396.20
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Accounting for a Bond issued at par
Coupon Rate 6% = Market Rate 6%
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" End of year 1
* Interest expense = $10,000 x 6%
= Couponpayment= $10,000x 6%

'(Or Conpda,
Dr Interest expense 600

CrCash 600

® End of year 2
Dr Interest expense 600
Cr Cash 600 t [ ¢ { o~
® End of year 3 [CU J( {
Dr Interest expense 600
Cr Cash 600

Dr Bond Payable 10,000
CrCash 10,000

Zero-Coupon Bond
Coupon Ratg 0%/< Market Rate 6%
=

® The zero-coupon bond pays $10,000 at the end of three
years.

® What is the present value of the zero-coupon bond?
* PV of$10,000, n =3, 1= 6%, Table 3
® $10,000 x 0.83962 = $8,396.20

feade nwmlly vont do

Zero-Coupon Bond
Coupon Rate 0% < Market Rate 6%

B Qver time, the discount is reduced so that at maturity the net bond
payabl equ,amvalue f the bonds, $1q,000

A bt o fedae Ve ting
® Periodically after issuance
= Cash interest payments =0
® Interest expense = Bond payable x market interest rate
= Difference between interest ex enmd cash interest payment

reduces Discount Account
"”/’ d,'lcl 447(' T
" At maturity

® Pay interest & entire principa balance
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Zero-Coupon Bond S

Zero-Coupon Bond eITSiosn
Coupon Rate 0% < Market Rate 6%

Coupon Rate 0% < Market Rate 6%

® End of year 1 ® Endofyear 2
® |nterest expense = $8,396.2 x 6% = 503.77 26[,\ l ® Interest expense = $8,899.97 x 6% = 534.00
* No cash interest payment, so add the interest to Bond Payabl ‘/Jyﬁ' = No cash interest payment, so add the interest to Bond Payable
Drinterest expense 503.77 f,‘ r\e ‘,L Q(kﬂltl Dr Interest expense 534,00
Cr Discount 503.77 &'L o/ Cr Discount 534.00
® Balance in Discount Account = $(1,603.80 — 503.77) ® Balance in Discount Account = $(1,100.03 — 534.00)
=$1,100.03 C an' ('EAJCE = § 566.03
® Net Bonds Payable = $8,396.20 + 503.77 = $8,899.97 /// | \\ " Net Bonds Payable = $8,899.97 + 534.00 = $9,433.97
= OR (sLow " OR
® Net Bonds Payable = $10,000 — (1,100.03) = $8,899.97 d’f\ [nta ® Net Bonds Payable = $10,000 — 566.03 = $9,433.97
AL
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Zero-Coupon Bond
Coupon Rate 0% < Market Rate 6%

Zero-Coupon Bond
Coupon Rate 0% < Market Rate 6%

" End of year 3

® Interest expense = $ 9,433.97 x 6% = 566.03 Jssue E;:'s‘ Al : }Bf;‘g;ayable'_?':gg:gt:]] BN;'; i
® No cash interest payment, so add the interest to Bond Payable e : pei SRy
Drinterest expense 566.03 Cash = [BondPayable - Discount =] NBP + RE
Cr Discount 566.03 2001 ] = 503.77 (503.77)
EB 10,000 - 1,100.03 8899.97
® Balance in Discount Account = $(566.03 — 566.03) = $ 0 2002 0 = 534 (534)
EB 10,000 - 566.03 9433.97
" Net Bonds Payable = $9,433.97 + 566.03 = $10,000
" OR 2003 0 = 566.03 (566.03)
" Net Bonds Payable = $10,000 -0 = $10,000 EB 10,000 0 10,000
P. ff t
* Pay off the bond at maturity A ?120‘.’:0':; (10,000)
Dr Bond Payable 10,000 o ’ .
Cr Cash 10,000 %
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Bond issued at a Discount
Coupon rate 6% < Market rate at issuance 8%

Bond issued at a Discount
Coupon rate6% < Marketra Ssuance 8%
L

® What s the present value of the bond? Lh QQJ &.0 ma“e {*

" Payment stream Dr Cash 9,484.56
= Interest payments= Coupon rate x Face Value= $600 CLe({ ( FO - Dr Discounton Bond Payable 515.44
= Principal at maturity = $10,000 ‘{ Cr Bond Payable 10,000

® Present Value ?GUHQ,

PV of cash flows discounted at the MARKET interest rate of 8%
= Net Bond Payable x 8%
PVOA (n = 3, r = 8%) x $600 = 2.57710x 600 = §1,546.26 ‘\/Y ofe el

" Atlssuance

= At the end of first year
= Interestexpense

.
* PVof(10,000, n=3, r=8%) = 0.79383x 10,000 =$7,938.30
* Total = $9,484.56 ( | Dr Interest expense 758.77

in CrCash 600.00
* BondPayable $10,000.00 a’? \ C Cr Discounton Bond Payable 158.77
= Less Discount (515.44, f (_f?
* Net Bond Payable 59.434-5GL - * Net Bond Payable= $9,484.56+ 158.77 =$9,643.33 ”
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Bond issued at a Discount e
Coupon rate 6% < Market rate at issuance 8% =
Cash = [Bond Payable — Discount=] NBP
Issue 9,485 = [ 10,000 515 =] 9485
Cash = [Bond Payable -Discount =] NBP + RE
2001 (600) = 159 9643 (759)
2002 (600) = 171 9,815  (771)
2003 (800) = 185 10,000  (785)
(10,000) ,/.\ (10,000)
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Bond issued at a Premium
Coupon rate 6%(<Market rate at issuance 4%
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Bond issued at a Premium
Coupon rate B%%arket rate at issuance 4%
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® \What is the present value of the bond?

® Payment stream
® Interest payments = Coupon rate x Face Value = $600
® Principal at maturity = $10,000

® Present Value

Bond issued at a Premium
Coupon rate 6%

PV of cash flows discounted at the MARKET interest rate of 4%

PVOA (n =3, r = 4%) x $600 = 2.77509 x 600 = $1,665
PV of (10,000, n = 3, r = 4%) = 0.88900 x 10,000 = $8,890
Total = $10,555

Bond Payable 51%

Plus Premium /—

Net Bond Payable $10,555 CO)( /2(

Extns

arket rate at issuance 4%

Lhy dogs This ( hange ™

" Atlssuance Cash = [Bond Payable + Premium =] NBP
DE:C:Sh Bond Payabl 108 555 L/Q)*\ “h‘ e i oS00 +555 =] 10,555
r Premium on Bond Payable ﬁ oV h
Cr Bond Payable 10,000 9 Cash = [Bond Payable +Premium =] NBP + RE
® Atthe end of first year 2001 (600) = 8 I
* Interestexpense , {{
= Net Bond Payable x 4% WO 2002 {50(]) = (135) 10,192 (415)
+ $10,555 x 4% = $422
& .
Dr Interest expense 422 209?10(338; (192) {:Un,g} (408)
Dr Bond Premium 178 " i
CrCash Q k\) 600 7‘
Net Bond Payable = $10,555- 178 = §10,377 !w{j » f )
= Net Bond Payable = $10,555- =£10, 2
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Review Review

B effective market rate (r%) can be > = < coupon rate (C%)

effective rate coupon rate
effective rate 7 coupon rate
effective rate coupon rate

par bond:
Discount bond:
Premium bond:

® cash payment can be > = < interest expense

Loy .
= interest expense

par bond: cash payment
Discount bond: cash payment L

Premium bond: cash payment 7

interest expense
interest expense
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If bonds sell at a premium, the market rate of
interest must be?

a. Equal to the stated interest rate.
b. Greater than the stated interest rate.
Less than the stated interest rate.

d. Cannot be determined from the
information given.



Review Review

The amount of interest paid by a firm on its bonds
payable is equal to?

a. The carrying value of the bonds times the
market rate of interest.

b. The carrying value of the bonds times the stated
rate of interest.

p c. The face value of the bonds times the market

If bonds sell at a premium, interest expense
will be more than cash interest paid (T or F).

rate of interest.

d. ) The face value of the bonds times the stated
rate of interest,

\
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Accounting for a Mortgage Accounting for a Mortgage
® |In a mortgage, you make equal payments each period " Atthe time of the mortgage
until maturity —_— DrCash 10,000
Cr Moertgage Payable 10,000
® Each payment represents interest & some principal ® Periodically thereafter until maturity
repayment = Cash morigagepaymentequals
= Interest expense = Outstanding morigage balance x Market interest rate
g ¥ = The excess of morlgage payment over inlerest expense reduces the
" PV of an ordinary annuity of three payments = $10,000 Mortgage Princi aﬁam——‘
= N=3,r=6%, Table 4 i i ot ot e A
> 3 o or example, al e end of thefirst year
® $10,000 = PVOA (n= 3, r = 6%) x Mortgage Payment + Mortgage payment $3.741
* Mortgage Payment = $10,000/2.67301 = $3,741.10 « Interest expense .06 x10,000 600
- Principal Payment 53,141

g 50 a7 botly .

Accounting for a Mortgage

| Liability Spectrum

Cash = Mortgage Payable T
Signing $10,000 = $10,000
all cash as Combination of all cash as
Cash = Mortgage + Ret Earnings principal "~ periodic 1+ principal periodic
(via interest exp) I 7 ] 7 !
Payments Zero Coupon ) Par Bond / /.9} L:‘Iase
2001 (3,741) = (3.141) (600) Bond "W'}( ortgage)

\
EBO1 6,859 Cl(SCﬂvﬂ'i-
2002 (3,741) (3,329) (412) Where on the spe@dojnii and discount bonds go?
EB02 3,530
2003 (3,741) (3.530) (211) P W}' 0{ /e &/4
EBO3 0 @ \ Vo
& Cin porgy df

(@’b)ng w) C2pon Fuf/‘!fi}y
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Liability Spectrum (cont'd)

all cash as Combination of all cash as
principal periodic + principal periodic

F i i
Zero Coupon Par Bond Lease
Bond (Mortgage)

Total CF = Principal + interest

37

Early Retirement of Debt

You repurchase Zero-Coupon bends (FaceValue = $ 11,180) in the openmarket
at the start of 2002 (2 years to maturity) when the marketrate is 5%.

What is the market price of thebonds at thattime?
PV, =FV, I (14rp
PV =11,190/(1.05f = 10,150

What is the effecton the BSE and financial statements?
Cash(A) = BondPrincipal - Discount + RE
BB 11,180 - 1310

-10,150 (11,190) (1,310) (270)

The gain or loss on early retirementof debt is reported asan extraordinary
item on the income statement.

—_—
—_—

Earnings management I
& Debt retirement

B Firms continually issue bands

® They have many vintages of B/P outstanding

® Some have risen in value

" Some have fallen in value

® Firms pick which bonds to retire

® Manage income by choosing to recognize gains or losses

Early Retirement of Debt =

® When bonds are retired before maturity, it is
necessary to

* Eliminate the carrying value of the bonds (i.e., bond

pay plus the premium or minus the discount) at
the redemption date

* Record the cash paid

* Recognize the gain or loss on redemption

Early Retirement of Debt

= Why was there a loss on the preceding retirement of debt?

® \What happened to interest rates since the bond was issued?

= Did the retirement really cause the loss?

Debt covenants (TCBY)

= Borrower will at all times maintain

= aratio of Current Assels to Current Liabilities ... that is greater than 2.0...

» a Profitability ratio greater than 1.5 ...[defined as] the ratio of Net Income for the
immediately preceding period of 12 calendar months to Current Maturities of Long
Term Debt ...

» a Fixed Coverage Ratio greater than 1.0 ... [defined as] the ratio of Net Income
... plus noncash Charges to Current Malurities of Long Term Debt ... plus cash
dividends ... plus Replacement CapEx of the Borrower

= [Borrower will not]
= sell, lease, transfer, or olherwise dispose of any assets ... except for the sale

of inventory ... and disposition of obsolete equipment ...[lo] repurchase the
stock of TCBY

= [Borrower agrees

= it will not take on new loans if) the aggregate amount of all such loans ... would
exceed 25% of the consolidated Tangible Net Worth of the Borrower...
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Bonds - Financial statements M Debt - Footnote Disclosures ki

= Balance sheet
= Current portion of L-T debt in current liabilities

« Long-term debt = Fair market value of outstanding bonds payable

= Income Statement = Annual (cash) principal repayments for next 5
» Interestexpense
years

= Indirect SCF
= Operations - interest accrualsnot yet paid, amortization of
discount/premium A
= Investing - purchase/ sale of available for sale debt = |nter35t eXDenSE‘)
« Financing- proceeds, repayment+ supplementaldisclosureof cash
paid for interest

= Cash interest paid for the year (not necessarily
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Leases

15.501/516 Corporate Financial Accounting
Fall 2010

Lecture 16

Professor Ross Watts
Sloan School of Management
Massachusetts Institute of Technology

Early Retirement of Debt

B \When bonds are retired before maturity, it is
necessary to

+ Eliminate the carrying value of the bonds (i.e., bond
payable plus the premium or minus the discount) at
the redemption date

* Record the cash paid

* Recognize the gain or loss on redemption

Early Retirement of Debt

= Why was there a loss on the preceding retirement of debt?
The market value of the debt > the book value
MV =$10,150
BV = $11,190-1,310= $9,880

® \What happened to interest rates since the bond was issued?
Decreased

Interest rates dropped from 7% at time of issuance to 5% so
debt is worth more

= Did the retirement really cause the loss?

No, the value of the liability had already increased

Housekeeping

® Problemsets
* PS4 due Wednesday

" Reading
* Dyckmanchapter 10, 434-446

" Exam
= 17
= Cover through lecture 17

B Today's slides
* Available on Stellar

E. )

MITSloan
mizsiimiar

Early Retirement of Debt

You repurchase Zero-Coupon bands (FaceValue = § 11,190) in the openmarket
at the start of 2002 (2 years to maturity) when the marketrate is 5%.

What is the market price of thebonds at thattime?

PV, =FV, /(1+rp

PV, =11,190/(1.05% = 10,150

What is the effecton the BSE and financial statements?
Cash (A) = BondPrincipal - Discount + RE
BB 11,180 - 1,310

-10,150 (11,190) (1,310) (270)

The gain or loss on early retirementof debtis reported asan extraordinary
item on the income statement.

Earnings management
& Debt retirement

® Firms continually issue bonds

B They have many vintages of B/P outstanding
" Some have risen in value

® Some have fallen in value

® Firms pick which bonds to retire

® Manage income by choosing to recognize gains or losses




Debt covenants (TCBY)

= Borrower will at all times maintain
= aratio of Current Assets to Current Liabilities ... that is greater than 2.0...

= a Profiability ratio greater than 1.5 ... [defined as] the ratio of Net Income for the
immediately preceding period of 12 calendar months to Current Malurities of Long
Term Debt ...

» aFixed Coverage Ratio greater than 1.0 ... [defined as] the ratio of Net Income
... plus noncash Charges to Cument Maturities of Long Term Debt ... plus cash
dividends ... plus Replacement CapEx of the Borrower

= [Borrower will not]

= sell, lease, transfer, or otherwise dispose of any assels ... except for the sale
of inventory ... and disposition of obsolete equipment ... [to] repurchase the
stock of TCBY

= [Borrower agrees

= it will not take on new loans if] the aggregate amount of all such loans ... would
exceed 25% of the consolidated Tangible Net Worth of the Borrower...

Debt - Footnote Disclosures

= Fair market value of outstanding bonds payable

= Annual (cash) principal repayments for next 5
years

= Cash interest paid for the year (not necessarily
= interest expense)

Agenda - Leases

= Nature of leases
= Rationale for leasing
= Distinction between operating & capital leases

= Different effects of operating & capital leases on lessee’s
= Income statement &
» Balance sheet

» Off-Balance Sheet financing

= Ratio analysis of liabilities

Bonds - Financial statements

= Balance sheet
« Current portion of L-T debtin current liabilities
« Long-term debt

» Income Statement
» Interest expense

= Indirect SCF

» Operations - interest accruals not yet paid, amortization of
discount/premium
= Investing - purchase/ sale of available for sale debt

= Financing - proceeds, repayment+ supplemental disclosureof cash
paid for interest

Debt - Footnote Disclosures

= Fair market value of outstanding bonds payable

* Annual (cash) principal repayments for next 5
years

= Cash interest paid for the year (not necessarily
= interest expense)

The Nature of Leases

= Alease is an agreement

= conveying the right to use property, plant, or equipment
= usually for a stated period of time
= in exchange for periodic cash payments

= The owner is the lessor, the renter is the lessee

= Somewhere between renting & buying



The Nature of Leases Economic substance of leases
® Two types of leases

Lease
Rent Purchase
ik i ® QOperating lease
* Usually short-term and allows the lessee to use the leased property
for only a portion of its economiclife. * Lessee rents the property
» The economic equivalent of arent transaction. * Lessee accrues rent expense
= Capital lease: ® Capital lease
- e i
» Longerterm leases that effectively transferall the risks and rewards Lessee economically owns the property
of the leased property tothe lessee (sale transaction). = Lessee records on 1.he bal_an;e sheet
» The economic equivalent of sales withfinancingarrangements- the : g:e Ieasedassgt (i T' t‘apltall_zeslthe assel) &
lessee buys the asset using a loarprovided by lessor. e corresponding lease obligation

Economic Rationale for Leases Economic Rationale for Leases

Operational advantages to the lessee: Financial advantages to the lessee
5 . ; . 1. Leasing often provides 100% financing & potentially more favorable rates
» Leasing provides some protection against obsolescence.

2. Leasing may provide fewer restrictions than other forms of financing
> Leasing rcady:to-l;se e‘gulpment v be:lm)": attractive if the 3. Properly structured leases may be “off-balance sheet”, avoiding
asset requires lengthy preparation and sct-up. restrictions set by bondholders that prevent firm from taking on

z . i ; : additional debt (i.e., debt covenants).
» Leasing avoids having to own the asset that will be required only additionali{ledt (1% - Cebt:covenants)

seasonally, temporarily or sporadically. 4. Leasing allows tax advantages of ownership to flow to the party best able
to use them.
Note on advantages
» Lessee will have to pay for these advantages unless the lessor has Note on advantages
some advantage that reduces costs » Lessee will have to pay for advantages 2 & 3 unless the lessor has some

advantage that reduces costs

Accounting for Operating Leases Lease Capitalization Criteria

« Recorded as rental of an asset in financial A lease is a capital lease if ANY of the following
statements conditions are met:
1) Transfer of ownership at end of lease term
- When lease agreement is signed & lessee 2) Existence of bargain purchase option - payment below
begins to use asset, no entry is made fair market value after lease term

3) Minimum present value of lease payments (including
bargain purchase, if any) at least 90% of asset's market

* As lease payments are made, cash is vahie

reduced & retained earnings are reduced i  ormiliifaast i i i
(Iease expense) ) Lease term is at leas! © Of assel's use Ire



Accounting for Capital Leases

* Recorded as an asset acquisition with 100% debt
financing in financial statements

« When lease agreement is signed & lessee begins to
use asset, present value of lease payments is
recorded as asset & corresponding liability

* During the lease term:

» Cash reduced as lease payments are made
» Lease asset depreciated => depreciation expense

+ Interest incurred on lease obligation => interest expense

Operating vs. Capital Lease

» GE Capital leases airplane to Delta Airlines

* Airplane has current value of $30,000K, expected
useful life of 20 years, & zero salvage value

* Assume Delta has borrowing rate of 16%

* Annual lease payments are $5,060K
= PV annuity factor (=16, n=20) is 5.929
- $30,000/5.929 = $5,060

Capital Lease

Leased el
Cash Asset Acc.Dep. = Lease Obligation RE
+30,000 +30,000

Present valueof lease payments at signing

Accounting for capital leases

MITSloan

--Lessee’s Books

Initial recording of a capital lease
Asset acquisitionwith a 100% debt financing

Dr Leased Property (A) PV of lease
Cr Lease Obligation(L) PV of lease

Recording of payments during the lease
Cash + Leased Property- Acc. Depr = Lease Obligation(L) + RE(OE)

1. -PP - (PP-Int. expense) -Int. expense
2 +Depn - Depn Expense
Present Value of Lease = (PVA, n, r'%%) * PP

PP = Periodic lease payment

Int, expense = Beginning of period lease liability * r%,

Beginning lease liability = present value of remaining payments atr’%

Depn. Expense = depreciation expense 2
Operating Lease
Year Cash = RE

1 -5,060 -5,060 .\

Annual Rent expense
2 -5,060 -5,060
3 -5,060 -5,060

Capital Lease

Cash Leased Asset - Acc. Dep. = Lease Obligation RE
+30,000 +30,000
Yr.1 5,060 -260 -4,800

Year 1decrease inlease obligation

5,060~ 4,800 Year 1interest expense ]

(30,000) 16%
1,500 -1,500

Year 1 depreciation expense
(30,000-0)/ 20



Capital Lease Capital Lease

Leased _ [t L
Cash nesqt -Acc.Dep. = LeaseObligation  RE Cash jsa::f Acc.Dep. = LeaseObligation RE
+30,000 +30,000 +30,000 +30,000
Yr1 -5,060 -260 4,800 Yr.1 5060 -260 4,800
-1,500 1,500 -1,500 -1,500
Yr.2 -5,060 -302 4,758 Yr.2 5060 -302 4,758
4,500 1,500 -1,500 -1,500
Year 2 decrease inlease obligation | Year 2interest upen;u } Yr.3 -5,060 =350 -4,710
-5.080-4,758 P0000-250)10% | -1,500 -1,500
Year 3 decrease inlease obligation rY;ar 3?&2'{,{,;&”
-5,060--4,710 (30,000- 260 - 302) * 16%
= (30 202) - 15
Operating vs. Capital Leases Operating vs. Capital Leases
Income Sheet Effect Balance Sheet Effect
Interest expense +
depreciation expense i Lease Obligation
0 ~(capital lease |_ (capital lease)
36006 -
800 + T ——
. —
000 - Y
/L 20000 N ‘\ ».
g 2
4o || Rentexpense | ) N =
(operating lease) | N = o
e Leased Asset S N
. . - :
100 (capital lease) =
[ - - v v r— T ' K‘\
102 3 4 85 6 7T 89 N R2UNIPBLITISWDD G 12 3 4 %5 8 T 3 9 WGLIA2IF NS L6 0T
. =

Capital vs. Operating Leases —
Financial Statement Effects on Lessee

Capital vs. Operating Leases —
Financial Statement Effects on Lessee

® The most significant financial statement differences between
capital & operating leases are on the Balance Sheet ® | a firm structures leases to obtain off-balance sheet
» Capitalleases are recognizedon the B/S financing, you can use required disclosures to capitalize
, operating leases for financial analysis purposes
» QOperating leases are not » See pp, 442445 of text
® There are also differences between capital vs operating
leases in their effects on the Income Statement & Statement
of Cash Flows

® Such adjustment may be necessary to compare two firms in
the same business, one using off-balance sheet financing
in the form of operating leases & one not

= jncome Statement.

» the expense of an operatinglease is the periodiccash (rental)
payment

= the expensesfor a capital lease are depreciation+ interest.



Off-Balance Sheet Debt %

® Many firms that operate in debt intensive industries,
such as energy, communication & airline, try to keep
debt off the balance sheet

* Construct deals so as to avoid reporting debtliabilities

B Several forms of off-balance sheet financing:
= QOperaling leases (vs. capital lease)

= Special purpose entities (SPEs)
® Equity method vs. consolidation of subsidiaries & joint ventures

Off Balance Sheet Investments @

» Subsidiaries & joint ventures

> Also often highly leveraged

» To avoid consolidation of a parent must have 50% or
less of the common equity of the subsidiary or joint
venture

AP Turnover Ratio = %

Purchases
Average AP

An indication of how quickly a
company pays its suppliers

Off Balance Sheet Investments ki

» SPE
> Entity set up for specific, finite period, activity
» Often highly leveraged(ratio of debt/assets)
» Used for sub-prime securnities (D/A typically 94-97%)
» Outside ownerhad to bear substantial risk

» De facto implementation required o/s equity owner have equity = 3% of
total assets (all, or at least greater than half, the equity)

> FAS 166 whichimpacts financial reports beginningin 2010 eliminated
the concept of a qualifiedSPE

Ratio Analysis of Liabilities
Operating & Cash conversion cycles

Lecture8 Lecture 11

Average collection period

® Operating cycle
OC =Days in AR + Days in INV

® Cash conversion cycle
CCC = Daysin AR + Days in INV — Days in AP

New
The more positive the CCC, the morelikely a liquidity crisis

Days in AP = TEs

365 days
AP Turnover Ratio

Measures average number of days to pay
suppliers



A/P TO & Days in A/P: Apple A/P TO & Days in A/P: Dell

Selected financial information for Apple Computer, Inc Selected financial information for Dell, Inc for FY 2006
for FY 2006 and FY 2005 (in $ millions): and FY 2005 (in $ millions):
Apple Dell
FY 2006 FY 2005 FY 2006 FY 2005
Inventory $270 $165 Inventory $576 $459
AlP $3,3%0  $1,779 AlP $9,840  $8,895
Sales $19,315  $13,931 Sales $55,908 $49,205
Cost of Sales $13,717 $9,889 Cost of Sales $45,958 $40,190
Net Income $1,989 $1,328 Net Income $3,572 $3,043
Compute A/P Turnover and Days in A/P Compute A/P Turnover and Days in A/P

A/P TO & Days in A/P:
Apple vs. Dell Operating cycle and CC cycle
B Dell
G * OC = days in AR + days in INV
Apple 535 = (13717 + 270 - 165)/[0.5 * (3,390 + 1,779)] " 0C=250+4.1=291
Dell 492 = (45958 + 576 - 459)/[0.5 " (9,840 + 8,895)] : ggg B ‘;gyos 1"4A1R +_fia;'5_i':'4|::" days in AP
Days in A/P B Apple
= OC = days in AR + days in INV
Apple 682 =365/535 * OC=20.3+58=26.1
Dell 742 =365/4.92 = CCC =daysin AR + days in INV — days in AP

" CCC=203+58-682=-421

Both firms have considerablefinancing of working capital via AP Both firms’ CCC ratios suggest they are nofiikely to have liquidity problems  *

Times Interest Earned Times Interest Earned - Example

B Company ABC's profit before interest and taxes is
$22, 000 and its interest expenses are $10,000:

. Income before income taxes and ® TIE Ratio = $22,000 / $10,000 = 2.2
Times interest expense ' f .
interest =
earned Interest expense

® |t shows that your business is earning the interest

Indicates the company's ability to meet interest CIsIgsS iNonHNors e Saciycdl

payments as they come due.
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15.501/15.516
Corporate Financial Accounting
Problem Set #4
Fall 2010
Due November 10™ in class
IMPORTANT INFORMATION:

Please hand in a hard copy of your answers in class on the due date. Soft copy submissions will

not be accepted. Only one copy per group is required. Maximum of three people per group. If
you cannot attend class, you may drop off the problem set before the due date in Lynn Li’s mail
tray during business hours. The mail tray is located in E62-655.

Question 1: Property, Plant and Equipment

Diamond, Mortensen, and Pissarides (DMP) Corporation purchases a computer equipment that
matches firms with the employee on January 1%, Year 1, at a cost of $130,000. The asset is
expected to have a service life of 5 years and a salvage value of $10,000.

(a) Compute the amount of depreciation for each of Year 1 through 5 using the straight-line

depreciation method.

(b) Compute the amount of depreciation for each of Year 1 through 5 using the double-

declining balance method.

(c) The CEO, Brandon Lee, receives a bonus if the corporation reports high earnings. As a

result, he always chooses the accounting method that would give him the highest salary
possible. First, he must decide whether to follow straight-line or double-declining
balance method. Once he commits to a depreciation method, Brandon will not change his
accounting choice. He knows that on December 31* of Year 2, the corporation will sell
their equipment for $80,000. Assuming that Brandon Lee wants to receive a bonus as
soon as possible, that is, in year 1, and ignoring tax issues, will he choose the straight-line
or double-declining balance method? Will Brandon make the same depreciation decision
if he chooses to receive his bonus in year 27 What are the accounting journal entries for
the sale of the computer equipment using the accounting method that gives Brandon Lee
the highest income in year 27

(d) Assume Brandon Lee chose to use straight-line depreciation. On June 30", Year 2, the

Board members of DMP Corporation meet and decide to NOT sell the equipment as
originally planned. Instead, they decided to incur maintenance of $5,000 so that the
service life is extended for another 4 years (current service life + 4 years). What are the
associated depreciation expenses for years 2 and 3?



Question 2: Deferred Taxes

Heck, Negishi, and Suzuki (HNS) Chemical Company uses an accelerated method of
depreciation for tax purposes and straight-line for financial reporting. In 2010, HNS Chemical
purchased a new asset for $1,000,000. For financial reporting purposes, it will depreciate this
asset over 7 years to a salvage value of $300,000. For tax purposes, the company will depreciate
the asset over 4 years to a salvage value of zero using the following annual percentages of the
acquisition cost: 30%, 40%, 25%, and 5%. Net income before taxes and taxable income are
otherwise the same, equaling $1,000,000 before depreciation in each year. The tax rate is 35%.

(a) What are the tax expense, deferred taxes, and taxes payable each year?

(b) HNS Chemical decided to sell the asset at the end of year 5 for $450,000. What are the
associated journal entries related to this transaction? Would the same amount of gains
and losses be reported to the Internal Revenue Services?

Question 3: Long-term Debt

Robert G. Edwards Corporation pioneered a technology that allows for in vitro
fertilization (IVF). In the 32 years since the first “test tube baby,” Edwards and his colleagues
have refined IVF technology and are continuing to expand their reach. Edwards Corporation is
issuing bonds this year to expand the business operations with the following transactions.

(a) Edwards Corp. first issues 1,000 10-year zero coupon bond for with face value of $1,000
per bond in exchange for $463,193.49 in cash. The CEO of Edwards Corp, Yichuan Liu,
wants to know the coupon rate of the bond and the effective interest rate.

(b) Feeling that this was insufficient funds to do additional R&D, Yichuan Liu wants to issue
another 10 bonds. This time, the face value of each bond is $10,000. The stated maturity
is 3 years and the stated coupon rate is 5%, paid annually at the end of each year.
Assuming the effective interest rate is (i) 3%, (ii) 5%, and (iii) 10% respectively, Yichuan
Liu asks you to show the entries for the entirety of the bond under each effective interest
rate.

Question 4: Leases

Liu Xiaobo Inc. entered into a 4-year lease agreement with Mario Llosa Corporation on
January 1%, 2010. Liu Xiaobo Inc. will lease 200 laser copiers each costing $500. The copiers
are expected to last for 5 years with a residual value of $100 per copier. At the end of the
contract, Liu Xiaobo Inc. may purchase the laser copier at $80. (Assume that the interest rate is
5% and the company uses straight-line depreciation).

(a) Should Liu Xiaobo Inc. record the copier lease as capital lease or operating lease? Why?
(b) What are the journal entries if Liu Xiaobo Inc. treated the lease as a capital lease?
(c) What are the journal entries if Liu Xiaobo Inc. treated the lease as an operating lease?
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15.501/15.516
Corporate Financial Accounting
Problem Set #4
Fall 2010
Due November 10" in class

IMPORTANT INFORMATION:

Please hand in a hard copy of your answers in class on the due date. Soft copy submissions will
not be accepted. Only one copy per group is required. Maximum of three people per group. If
you cannot attend class, you may drop off the problem set before the due date in Lynn Li’s mail
tray during business hours. The mail tray is located in E62-655.

Question 1: Property, Plant and Equipment

Diamond, Mortensen, and Pissarides (DMP) Corporation purchases a computer equipment that
matches firms with the employee on January 1%, Year 1, at a cost of $130,000. The asset is
expected to have a service life of 5 years and a salvage value of $10,000.

(a) Compute the amount of depreciation for each of Year 1 through 5 using the straight-line
depreciation method.

(b) Compute the amount of depreciation for each of Year 1 through 5 using the double-
declining balance method.

(c) The CEO, Brandon Lee, receives a bonus if the corporation reports high earnings. As a
result, he always chooses the accounting method that would give him the highest salary
possible. First, he must decide whether to follow straight-line or double-declining
balance method. Once he commits to a depreciation method, Brandon will not change his
accounting choice. He knows that on December 31* of Year 2, the corporation will sell
their equipment for $80,000. Assuming that Brandon Lee wants to receive a bonus as
soon as possible, that is, in year 1, and ignoring tax issues, will he choose the straight-line
or double-declining balance method? Will Brandon make the same depreciation decision
if he chooses to receive his bonus in year 22 What are the accounting journal entries for
the sale of the computer equipment using the accounting method that gives Brandon Lee
the highest income in year 2?

(d) Assume Brandon Lee chose to use straight-line depreciation. On June 30", Year 2, the
Board members of DMP Corporation meet and decide to NOT sell the equipment as
originally planned. Instead, they decided to incur maintenance of $5,000 so that the
service life is extended for another 4 years (current service life + 4 years). What are the
associated depreciation expenses for years 2 and 3?



ANSWER:

(a) Straight-line depreciation expense = (Purchase Price — Salvage Value) / Estimated Useful
Life = ($130,000-$10,000)/5=$24,000. The depreciation expense is the same every year.

(b) Double declining balance method

Straight-line depreciation rate = 1/5
Double declining depreciation rate = 2 * 1/5 = 40%

Annual Depreciation Expense = Book Value at Beginning of Year x Depreciation Rate

Yr | Book Value @ | Dep. Annual Dep. Acc. Dep. Book Value
Beginning of Yr | Rate Expense @ End of Yr
I $130,000 D% $130,000*%40% = $52,000 $130.000 -
20% $52,000 $52,000 =
$78,000
2 |$78,000 40% §78.000%40% = $52,000 + $78,000 -
$31,200 $31,200= $31,200=
$83,200 $46,800
3 $46,800 40% $46,800%40% = $83,200 + $46,800 -
$18.720 $18,720 = $18,720 =
101.920 $28.080
4 | $28.080 40% $28,080%40% = $101,920 + $28,080 -
$11,232 $11,232= $11,232 =
$113,152 516,848
5 $16.848 40% $120,000 - $113,152 | $120,000 $10.000
= $6.848

The year 5 depreciation rate is not $16,848*40% because we want the ending
accumulated depreciation to be $120,000.

(c) Atthe end of Year 1, the depreciation expenses are $24,000 and $52,000 under straight-
line and double-declining balance respectively. At the end of Year 2, the depreciation
expenses are $24,000 and $31.200 under straight-line and double-declining balance
respectively. Under the straight-line depreciation, the accumulated depreciation is
$48.000; under the double declining depreciation, the accumulated depreciation is

$83,200.

Straight-Line Income Double-Declining Income
Year | -$24,000 -$52.000
Year 2 -$2,000 - $24,000 = -$26,000 | $33,200 - $31,200 = $2.000
Total Income -$50,000 -$50.000

If Brandon Lee wants to receive a bonus at the end of year I, he would choose the
straight-line depreciation, which would give him an end-of-year income of -$24,000
instead of -$52,000. If Brandon Lee wants to receive a bonus at the end of year 2, he



would choose the double-declining depreciation, which would give him an end-of-year
income of $2.000 instead of -$26.000.

The journal entries associated with double declining-balance method depreciation are:

Cash $80,000
Accumulated Depreciation  $83,200
Property, Plant and Equipment $130,000

Retained Earnings (Gains on Sale of Equipment)  $33,200

For completeness and your references, the journal entries associated with straight-line
depreciation are:

Cash $80,000
Accumulated Depreciation $48,000
Retained Earn. (Loss on Sale of PP&E) $2.000
Property, Plant and Equipment $130.000

(d) By June 30", the firm has incurred $24,000%1.5=$36,000 worth of accumulated
depreciation. That means the book value of the computer equipment is $130,000 -
$36,000 = $94,000. The remaining service life is 5 — 1.5 =3.5 years. By incurring
maintenance costs, the book value of the computer equipment is now $94,000 + $5,000 =
$99,000. The service life is now 3.5 + 4 = 7.5 years. So, the new yearly depreciation
expense is ($99,000-$10,000) / 7.5 = §11,866.67.

For year 2, the depreciation expense is $12,000/2 = $6,000 for the months of Jan 1* —
June 30" and $11,866.67/2 = $5,933.33 for the month of July 1¥ — Dec 31%. Hence, the
total depreciation expense for year 2 is $6,000 + $5,933.33 = §11,933.33.

For year 3, the depreciation expense is just $11,866.67.



Question 2: Deferred Taxes

Heck, Negishi, and Suzuki (HNS) Chemical Company uses an accelerated method of
depreciation for tax purposes and straight-line for financial reporting. In 2010, HNS Chemical
purchased a new asset for $1,000,000. For financial reporting purposes, it will depreciate this
asset over 7 years to a salvage value of $300,000. For tax purposes, the company will depreciate
the asset over 4 years to a salvage value of zero using the following annual percentages of the
acquisition cost: 30%, 40%, 25%, and 5%. Net income before taxes and taxable income are
otherwise the same, equaling $1,000,000 before depreciation in each year. The tax rate is 35%.

(a) What are the tax expense, deferred taxes, and taxes payable each year?

(b) HNS Chemical decided to sell the asset at the end of year 5 for $450,000. What are the
associated journal entries related to this transaction? Would the same amount of gains
and losses be reported to the Internal Revenue Services?

ANSWER:
(a)
Yr | Fin. Acct. | Tax Dep. | Tax Expense Taxes Payable Deferred
Dep Taxes
I ] $100,000 | $300,000 | ($1,000.000 - $100.000) | ($1,000.000 - -$70,000
*0.35 = $315,000 $300,000) *0.35 =

$245,000

2 | $100,000 | $400,000 | $315,000 ($1,000.000 - -$105,000
$400,000) *0.35 =
$210,000

3 | $100,000 | $250,000 | $315,000 ($1,000.000 - -$52,500
$250,000) *0.35 =
$262,500

4 | $100,000 | $50,000 | $315,000 ($1,000,000 - $50.,000) | $17,500
*0.35=$332,500

5 | $100.000 |$0 $315.000 $350,000 $35.,000

6 | $100.000 |$0 $315.000 $350.000 $35.000

7 1$100,000 | $0 $315.000 $350,000 $35,000

If the deferred taxes are negative, then this indicates that we have a “deferred tax liability.” If
the deferred taxes are positive, then this indicates that we have a “deferred tax asset.”

(b) The associated journal entries for the sale of asset in year 5 are the following:

Cash $450,000
Acc. Dep. $500,000
Ret. Earn. (Loss from Sale of PP&E) $50,000

Property, Plant and Equipment $1,000,000




The same amount of gains and losses would NOT be reported to the IRS. By year 3, there is no
tax depreciation; hence, the company would record a gain of $450,000 to the IRS.

Question 3: Long-term Debt

Robert G. Edwards Corporation pioneered a technology that allows for in vitro
fertilization (IVF). In the 32 years since the first “test tube baby,” Edwards and his colleagues
have refined IVF technology and are continuing to expand their reach. Edwards Corporation is
issuing bonds this year to expand the business operations with the following transactions.

(a) Edwards Corp. first issues 1,000 10-year zero coupon bond for with face value of $1,000
per bond in exchange for $463,193.49 in cash. The CEO of Edwards Corp, Yichuan Liu,
wants to know the coupon rate of the bond and the effective interest rate.

(b) Feeling that this was insufficient funds to do additional R&D, Yichuan Liu wants to issue
another 10 bonds. This time, the face value of each bond is $10,000. The stated maturity
is 3 years and the stated coupon rate is 5%, paid annually at the end of each year.
Assuming the effective interest rate is (i) 3%, (ii) 5%, and (iii) 10% respectively, Yichuan
Liu asks you to show the entries for the entirety of the bond under each effective interest
rate.

ANSWER:

1,000,000

(1+m)10
the coupon is a zero coupon, then the coupon rate must be 0%.

(b) Coupon = 5%(100,000)=5,000
I"m going to use T-accounts rather than journal entries since you can see the effects in all
years within a T-account. It should be easy for you to translate between the two methods.

(a) 463,193.49 = which means r = 8%. The effective interest rate is 8% and since

: 1-(1.03)73 100,000
() BV =5000 = 2| + T2 = 105,657.2.
Cash (A)
BB 0
Bond issuance 105,657.2
5,000 Coupon payment yr 1
EByr 1 =BByr2 100,657.2
5,000 Coupon payment yr 2
EByr2=BByr3 95,657.2
5,000 Coupon payment yr 3
100,000 Bond
9,342.8 EB yr3




Bonds (A)

0 BB
100,000 Bond issuance
100,000 EByr1=BByr2
0 No transactions
100,000 EByr2=BByr3
Bond 100,000
0 EByr3
Bonds Premium (L)
0 BB
5,657.2 =(105,657.2-100,000)
1,830.28
3,826.92 EByr1=BByr2
1,885.19
1,941.72 EByr2=BByr3
1941,72
0 EB yr 3
Retained Earnings (SE)
0 BB
Interest Expense Yr | 3,169.72 105,657.2%0.03=3,169.72
EB Yr1 3,169.72
Interest Expense Yr 2 3,114.81 (100,000+3,826.92)*.03=3,114.81
EB Yr2 6,284.53
Interest Expense Yr 3 3,058.25 (100,000+1,941.72)*.03=3058.25
EB Yr3 9,342.78

(i1) BV = 100,000 since this is at par. However, if we were to calculate, we’d find
1-(1.05)73 100,000

that it’s 100,000. BV = 5,000 [F=832—| 4 20952 — 100,000
: (1.05)
Cash (A)

BB 0

Bond issuance 100,000
5,000  Coupon payment yr 1

EByr1=BByr2 95,000
5,000 Coupon payment yr 2

EByr2=BByr3 90,000
5,000 Coupon payment yr 3
100,000 Bond
15,000 EB yr3




Bonds (A)

0 BB
100,000 Bond issuance
100,000 EByrl1=BByr2
0 No transactions
100,000 EByr2=BByr3
Bond 100,000
0 EB yr3
Retained Earnings (SE)
0 BB
Interest Expense Yr 1 5,000
EB Yr1 5,000
Interest Expense Yr 2 5,000
EB Yr2 10,000
Interest Expense Yr 3 5,000
EB Yr3 15,000
-3
(i) BV =5000[=2] + I = 87,565.74
Cash (A)
BB 0
Bond issuance 87,565.74
5,000 Coupon payment yr 1
EByr1=BByr2 82,565.74
5,000 Coupon payment yr 2
EByr2=BByr3 77,565.74
5,000 Coupon payment yr 3
100,000 Bond
27,434.36 EB yr3
Bonds (A)
0 BB
100,000 Bond issuance
100,000 EByr1=BByr2
0 No transactions
100,000 EByr2=BByr3
Bond 100,000
0 EB yr3




Bonds Discount (A)

BB 0
12,434.26
3.156.57
EByr1=BByr2 8,677.69
4,132.23
EByr2=BByr3 4545.46
4545.46
EB yr3 0
Retained Earnings (SE)
0 BB
Interest Expense Yr | 8,756.57
EB Yr1 8,756.57
Interest Expense Yr 2 9,132.23
EB Yr2 17,888.80
Interest Expense Yr 3 9,545.46
EB ¥Yr3 27.434.26




Question 4: Leases

Liu Xiaobo Inc. entered into a 4-year lease agreement with Mario Llosa Corporation on
January 1%, 2010. Liu Xiaobo Inc. will lease 200 laser copiers each costing $500. The copiers
are expected to last for 5 years with a residual value of $100 per copier. At the end of the
contract, Liu Xiaobo Inc. may purchase the laser copier at $80. (Assume that the interest rate is
5% and the company uses straight-line depreciation).

(a) Should Liu Xiaobo Inc. record the copier lease as capital lease or operating lease?
Why?

(b) What are the journal entries if Liu Xiaobo Inc. treated the lease as a capital lease?

(c) What are the journal entries if Liu Xiaobo Inc. treated the lease as an operating lease?

ANSWER:

(a) There are 4 criteria that determine whether this is a capital or operating lease. The FASB
provides rules (FAS 13) for classifying leases as operating or capital. A lease is a capital
lease if it meets any of the following:

1. It transfers ownership to the lessee at the end of the lease term.
2. Transfer of ownership at the end of the lease is likely because the lessee has a
“bargain purchase™ option (for a price less than predicted fair market value at the
future date).
3. The lease extends for 75% or more of the asset’s life.
4. The present value of the minimum contractual lease payments equals or
exceeds 90% of the fair market value of the asset at the time the lessee signs the
lease.
Since the lease with Llosa Corp allows Liu Xiaobo Inc. to purchase the laser copier at the
end of the lease, we record this as a capital lease.

(b) The face value of the lease = 200*$500 = $100,000. Depreciation expense per year is
$500=200=5100=200
5 years

100,000 =

next 4 years.
On Jan 1%, Year 1: we have the following journal entries:
Leased Asset $100,000
Lease Liability $100,000
On Dec. 31%, Year 1, we have to make 2 adjusting entries. First, we must depreciate the
asset. Second, we must pay any interest expense on the asset:
First, Depreciation Expense is: $16,000 per year as calculated above.
Ret. Earn. (Deprec. Expense) $16,000
Accumulated Depreciation  $16,000

= $16,000/year. The lease lasts for 4 years.

Lease Payment
0.05

(1 = ;54) so Lease Payment = 28,201.18 per year for the



Second, Interest Expense = 0.05*$100,000 = $5,000
Lease Liability is the difference between cash payments and the interest expense
Ret. Earn. (Interest Exp) $5,000
Lease Liability $23.201.18
Cash $28,201.18
On Dec 31%, Year 2. we must make the following entries:
Ret. Earn. (Deprec. Expense) $16.000
Accumulated Depreciation ~ $16,000
The Interest Expense must be re-computed as the book value has changed after year 1, so
Interest Expense = 0.05*($100,000 - $23,201.18) = $3,339.94
Ret. Earn. (Interest Exp) $3,339.94
Lease Liability $24,861.24
Cash $28,201.18
On Dec 31%, Year 3, we must make the following entries:
Ret. Earn. (Deprec. Expense) $16,000
Accumulated Depreciation  $16,000
The Interest Expense must be re-computed as the book value has changed after year 2, so
Interest Expense = 0.05%($66,798.82-$24,861.24) = $2,096.88
Ret. Earn. (Interest Exp) $2,096.88
Lease Liability $26,104.3
Cash $28,201.18
On Dec 317, Year 4, we must make the following entries:
Ret. Earn. (Deprec. Expense) $16,000
Accumulated Depreciation  $16,000
The Interest Expense must be re-computed as the book value has changed after year 2, so
Interest Expense = 0.05%($41,937.58-$26,104.3) = $791.66
Ret. Earn. (Interest Exp) §791.66
Lease Liability $27,409.52
Cash $28,201.18

(¢) On January 1%, Liu Xiaobo Inc. makes no accounting entry.
On each December 31%, Liu Xiaobo Inc. records the same rent expenses incurred for
vears 1, 2, 3, and 4.
Ret. Earn. (Rent Exp) $28,201.18
Cash $28.201.18
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B Ratio Analysis
= Times Interest Earned

B Stockholders’ Equity
= Aka Shareholders’ Equity, Owner's Equity

[T

MITSloan
ANAG(MENT

Times Interest Earned - Example

B Company ABC's profit before interest and taxes is
$22, 000 and its interest expenses are $10,000:

® TIE Ratio = $22,000/ $10,000 = 2.2

B |t shows that your business is earning the interest
charges two or more times each year.

Housekeeping

® Problem sets
* PS4 due today

® Reading
= Dyckman chapters 1-3, 6-11(including appendix 11A)

" Exam

1117 (7 days from today)

Cover through today's lecture 17

Review on 11/15

Last Fall's and last Spring's 2nd exams on Slellar
Practice problems for Chapters 1-3 and 6-11 on Stellar

B Today's slides
* Available on Stellar

Times Interest Earned

Times Income before income taxes and
interest = interest expense

earned

Interest expense

Indicates the company’s ability to meet interest
payments as they come due.

Similar to fixed coverage ratio in TCBY's debt

covenants (Lecture 15) which included cash dividends
& replacement capex in addition to interest expense .

Stockholders’ Equity

* To date only considered 2 parts of Stockholder’s Equity
— Contnbuted capital
* Proceedsfrom finm’sstock issucs (net of treasurystock )
— Retained eamings
* Income
* Dividends

* A corporation’s Stockholder’s Equity is typically more complex
— More components than contributed capital & retained eamings
— Affected by more types of transactions than we have considered
* E.g., stock options, stock splits, stock repurchases

* Objective
~ Understanding of
* Stockholders’ Equity components
* Other transactions & events that afTect Stockholders™ Equity

i



Chart of Owners' Equity

| | |
)( ey

APIC = Additional Paid-in Capital
AKA Paid-in Capital in Excess of Par Value

Contributed Capital: Common Stock

+ Basic residual ownership share in the corporation

— Have the residual claim on the firm’s assets after the firm'sdebts &
obligations are paid

— Can vote on certain corporate govemance issues
¢.g election of the Board of Directors

+ Often has a par value

— A value stated on face of the security
* Onginally the amount shareholders had 1o cnnlnblxlc!n firm
— If par not fully paid, in bank di d require p of
the amount unpaid.
— Since states require shares be fully paid up, par is irrclevant today
= Has no relationto market value today

— No par value shares are also common today

Other Terminology Related to Contributed Capital

Authorized
at can be issued as stated in thecorporation’ sAmcles of

1 I:mmum M?ﬂlgfaqclam tf\ ﬂvﬁh"a“&

———Number of shares sold to shareholders. There are oftenshares
authonzedto be issued but not issued

Outstandini
rof shares actually owned by shareholders
[Issued 2 Outstanding because ofshare repurchases

Contributed Capital

* Can consist of several types of shares or stocks

* Two common classes of stock

— Common stock
* Always exists
* May have more than one type
—epgA&B

— Preference stock
* Need not exist
* May also have more than one type

* Both classes of stock typically have limited liability

— Stockholders liability is limited to their investment

im0 m‘a (d(‘Q

Contributed Capital: Preferred Stock

* Typically have priority over common stock in
— Dividends (a stated rate)
— Assets in liquidation

¢ Sometimes do not have voting rights
— Except in certain conditions

" Otherrights & preferences may include

— Cumulative dividends unpaid dividends accumulate & mustbe paid
before common shareholders can receivedividends

— Partcipating receive a portion of income in addition to stated dividend
— Convertible can be converted into common stock at a pre-specified rate
~ Callable: can be retired by management at a pre-specified price

— Redeemable: can be retired by holder at a pre-specified price

=8

o'ch
Voa 4 0o qbpua Callble peice

Accounting for Stock Issuance

Accounting for common stock issuance keeps track separately of the
slock’s
(1) B_qg_\galue &
(1) any additional capital received in excess of par value
called additional paid in capital (APIC)

For example, assume 500 shares having par value of $1.00 were issued by
Smith Company for total cash received of $5,000.

Cash = Liab, + Common StockatPar + APIC
5,000 500 4,500

How would this transaction change if the stock had no par value?

Cash = Liab + Common Stock no Par Value
5,000 5,000 g wWnd

e 3 e nofhia i W

__/flq AR f/@?fq /OO 2((?0(? ﬁ@ﬂ
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Balance Sheet Presentation

Smith Company

Stockholders’ Equity
Paid-in capital
Common stock
500 shares (@ $1 par value $ 500
Additional paid-in capital 4,500
Total paid-in capital $ 5,000

Retained earnings 0 o
Total stockholders” equity f Stat

Treasury Stock: An Example

Suppose Sloan Co purchases 100 shares at $5 per share.

Assets Shareholders Equity
Cash = PIC * RE - Treasury Stock
(500) 500

7

Since Treasury stock is
acontra equity account,
increasing treasury
stock reduces equity!

(dn (Qer e shares
bt retticds Ehelfg dom

Treasury Stock: Retirement

Treasury stock may also be retired. Assume par value is $1 per
share, APIC=$2 per share and that Sloan Co retires the 100 shares
they purchased at $5 per share.

RE +
(200)

Par Value +
(100)

APIC
(200)

- Treasury Stock
(500)

T fake ot Yk vate r relueral Cog
Goes (n Nre
bd 't L

0/' 5 d(q

her o

Treasury Stock J/

Treasury Stock
Stock the company has repurchased

Why do companies repurchase their own shares?

bwj}h!— In ofjen
FS0p

C;,H (¢ason ' (f\cfcue Qﬂ/h( jé
Accountlng for share repurchase affects cash & shi

Dr Treasury stock
CrCash

E’(ﬂpe

ders’ equity

What kind of account is Treasury Stock?
Contra equity account

Treasury Stock in the Balance Sheet

Sloan Company

Stockholders’ Equity
Paid-in capital
Common stock

1,000 shares @ $1 par value $ 1,000
Additional paid-in capital 2,000
Total paid-in capital $ 3,000
Retained earnings 1,500
Total paid-in capital and retained earnings $ 4,500

Less Treasury stock (100 shares) 500
Total stockholders’ equity $ 4,000

Note: we now have 3 (C pital or PIC, Retai ings & Treasury stock) of
the 4 components of Stockholders’ Equity shownin slide 7

Dividends

A dividend is a distnbution by a corporation to its stockholders on a pro
rata basis

e.g., 10% stock gets you 10% of the distribution

Dividends can take 4 forms
Cash
Note payable

Property
Stock

We’ll only consider cash & stock dividends
——— e

‘0/1
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Accounting for Cash Dividends Stock Dividends

A firm has 1,000 shares outstanding & declares a $2 dividend. The
dividend is paid later.

Stock dividend are payments in common stock instead of cash
-_—'—‘—-—.______.__._‘_

—

Cash & stock dividends both decrease retained earnings

Entry at the time of the dividend declaration (/5L/ ” } ‘}—
ﬁ[ { 7p I The difference is the other side of the entry
Cash = Dividends Payable + APIC + RE L
2,000 (2,000) A cash dividend reduces assets
gc&m”ﬂn 1 . A stock dividend increases Paid-In Capital

Entry at the time the dividend is paid PW { & i , .

Cash dividends reduce Stockholders’ Equity
Cash = Dividends Payable + APIC + RE
(2,000) (2,000)

Stock dividends do not reduce Stockholders’ Equity
They just change the composition of Stackholders” Equity

Important Dividend dates: \
Declaration Date Date of Record p(}b‘é *'0 In doing so they reduce the firm'’s ability to pay cash dividends
Ex-Dividend date Payment Dafe Pew@
-

\ 7 \ =Y =i
:{;‘/‘i ofer  ~ t<( deu&y@d, 5 hae %ﬁ; o

won biv ¢
gy S G

(60 ?F\“@ drop ] Stock Dividends Stock Splits

Companies will occasionally “split- their shares. For example, ina 2
% oy Suppose a firm declares a $2,000 stock dividend (500 shares at a for 1 split, shareholders receive 2 shares for each share they own.
market price of $4 per share). A share’s par value is $1.

bCDfﬂ sum 0f G(/H*Z G%:O

Cash = Common Stock + APIC + Ret.

The number of shares, the par value & the price per share will change

é‘ﬁ'h DL Stock dividend 500 1,500 -2,000 i )
S Example: Sloan Co has 1,000 shares outstanding with $1 par value
ré_/ Cash dividend  -2,000 2,000 and a price of $120. What happens when the company executes a 2
(6(0 (Ultimately) for I Stock Split?
Note: 1. the sum of the equity effects for a stock dividend is zero Shares outstanding goes to 2,000 and par value goes to $0.50
2. the cash dividend reduces equity by $2,000 \
hothing halpers Lo OF
Who benefits from a stock dividend? Why do people view stock'splits as'a good thing?

Shag holbors not dillted Vbt Joss Comman o, 1
@L)EM( fo f™ Cash (“J]dm{b edubb Vaally |pur b/ooﬁem@e,

: : : |
Credibors ;\E’/l[,p/ é 1 dmake oF P@WMMIFL E%q/ﬂ(t&/ Mﬂw
Comprehensive Income MUF\@@ ’ gue/&rqer ?:omprgﬁensive Income (OCI)

Some gains and losses are given accounting treatment that excludes them / The gains & losses that
from the measurement of firm performance (net income) mod d 1. do not flow through net income, but
(see Dyckman, pp. 503-504) hﬂ /e (Q DC‘B({ 2. are included in comprehensive income
Comprehensive income = Net income B La« |— include:

n 9

+ gai 1 i i . b &t
geinaifcloases Bxcinced from ficCincome Unrealized gains & losses on available for sale securities

The sum of these gains & losses is call¢d Other Comprehensive Inco db(,ﬂé/e Unrealized gains & losses on dwns
(hedges)

Unlike net income, OCI is ngt.closed to retained eamings at the end of the Some types: of foFcign currency adjustments
period. Instead it is closed to Accumulated Other Comprehensive Income. Some pension adjustments
P —
1
hoF o0 (awme  Ghakewen b
= Fey 24



Presentation of OCI Presentation of OCI

Balance sheet presentation Combined statement of income and comprehensive income

Stockholders’ Equity

Net sales $xxx
Common stock  (PIC) $xxx CGS o
Retained earnings XXX Gross profit $xxx
Total PIC& retained eamings S0 Operating expenses. 0

Less: unrealized loss on available for sale securities (xoxx) ]6"::""[ f::sm operations  $xxx
i er 1te: XXX
o et Income before taxes ﬁ;
Income tax expense XXX
Net income $xxx
add OCI items _Xxx
Comprehensive income $xxx

Presentation of OCI O]

£ Fansival Why are Other comprehensive (OCI) 1 items excluded from Net
Statement of comprehensive income Income?
:szt gzc;qw Sxxx An increasing number of standards required some gains and losses to
e e “bypass” the income statement, so the FASB in SFAS 130 required the
Comprehensive income Sox

preceding reporting of OCI

Why were those items excluded in the other standards?

Consider the items

Unrealized gains & losses on available for sale securities
Unrealized gains & losses on denvative transactions (hedges)
Some types of foreign currency adjustments

Some pension adjustments

Answer

=i Lacoagl (/a(‘mbc")ﬁ[ n

(gowme.

Stock Options Option Terminology
u i e e Grant date: the date the option is awarded
Stock options are often granted to employees as part of their P 3
compensation package. - :
Vesting date : the date the holder is entitled to exercise the
=  option == 2 - g MS
® Options give the holder the right to purchase the underlying Expiration Date : the date the option expires 7~ 7
stock at a specified price (exerciseprice) fora specified et 5 ‘-@ Q'L/S
period of time. 7

Strike Price : the price at which you can exercise the option
Zilemcnit ki S R

D




Key Accounting Question: What is the Value of Options Granted?

Option Value
1 Option value
at expiration

Option value
before expiration

Stock Price

Exercise price
i) 1

0Old Accounting Rules for Options: FAS 123

The FASB tried to require companies to record compensation
expense when stock options were granted with an exercise price
greater than or equal to the current stock price.

The FASB argued that modern option pricing theory (Black-Scholes)
would suggest that these options have value.

Companies revolted and a compromise was reached under FAS 123
allowing companiesto continue to account for options as before
(no expense) but disclose in a footnote what this expense would be.

New Accounting Rules for Options

To estimate stock option expense, on the grant date the firm must

determine (estimate) the following:

Market price of the stock

Strike price

Time between grant date & exercise date
Risk free interest rate

Expected stock price volatility

Expected dividends

These values are inputs into option pricing formulae that allow the firm

to estimate the fair value of the options on the grant date.

Pend 35

Stock Options — Old accounting rules

Accounting when granted: Two alternatives:

1) Recognize expenge for the value of the options

5

2) Ifthe exercise price = fair market value of underlying
stock at grant date, no expense is recorded

If the exercise price < fair market value at grant date,
some compensationexpense may be recorded.

Disclose amount of grant in footnote

Change in Accounting Rules

Following the accounting scandals in 2002 & 2003, the FASB
decided to revisit the accounting for stock options

This time they were able to pass new rules requiring firms to expense
stock options

FASB required most traded companies to report the
expense associated with stock options for fiscal years beginning after
December 15, 2005

New Accounting Rules for Employee Stock Options

The fair value of the options is expensed over the vesting period with the other side
of the entry being sharcholders’ equity.
Suppose a company grants options to purchase 200,000 shares to management The
options are granted at an exercise price of $30 (current price) & can be exercised
after vesting in 2 years The firm uses an accepted method to value the options at
$10 each, In each of the next two years the following entry will be made
Compensation expense (retained camings) $1,000,000
Additional Paid-in Capital (stock options) $1,000,000

In the 3" year the stock price nises causing the managers to exercise their options at
the $30 exercise price. The company uses 200,000 treasury stock previously bought
at $25 to satisfy the option requirementand receives $6 million in cash
‘When employees exercise their options & pay the exercise price the entry is:

Cash 56,000,000
Treasury Stock $5,000,000

APIC 1,000,000 35



Intel: Stockholders’ Equity

Stockholders’ equity:
Preferred stock, $0.001 par value,
50 shares authonzed; none issued

Common stock, $0.001 par value, 10,000
shares authorized; 5,919 issued and outstanding
(6,253 in 2004) and capital in excess of par value

Acquisition-related unearned stock compensation
Accumulated other comprehensive income

Retained eamings
Total stockholders’ equity

2005

6,245

127
29,810
36,182

2004

6,143
)
152

32,288
38,579

Stockholders Equity - Summary

In today’s class we:

Reviewed the accounting for Contributed Capital (stock issuance, common

and preferred stock)

Reviewed the accounting for Treasury Stock (stock repurchases)
Reviewed the concept of Comprehensive Income

Provided an overview of other events that affect SE

Stock Options
Stock Splits
Stock Dividends
Cash dividends



Mid-term Il Review

15.501/516 Corporate Financial Accounting
Fall 2010
Lecture 18

Professor Ross Watts
Sloan School of Management
Massachusetts Instituteof Technology

Important Information

® Exam
= Lasts for 80 minutes
* |s closedbook

= Covers
57.8,9,10, & 11

= chapte
= Inventory, Bls, Time value of money, Long-term debt,

, LOng o
Leases & Shareholders’ Equity

You will need a calculator!!!
Financial tables will be provided

Previous exams may not be representative

oled it de not half
for Wl of oo }o}C CﬂmpMd}fj
D‘/CL‘“W \l,gpgul'x; This =

[TTIHII
MITSloan

MARAGINENT

Studying for the exam

= Re-work problems in the lecture notes
= Re-work problems in the problem sets
= Solve problems in the review session

= Practice additional problems posted

Housekeeping

® Reading
® Dyckman chapters 1, 2, 3, 5(213-223), 6, 7, 8, 9, 10 (436-445) &
1

® Today's slides
= Available on stellar since Friday

Type of questions

® Multiple choice

B Short answer

No Zg:\ﬁ d 15

The exam will cover

Inventory (chapter 7)

Long-term assets (chapter 8)

Time value of money (Appendix A pp. 592-597 & slides)

Long-term liabilifes (chapter 9)

Leases (chapter 10)

Shareholders’ equity (chapter 11)

Ratios }4 "hv ndbj r-fw/ U‘LD‘[» 9((? ',Q 605’[

{
Mo " Convelaun™ =

A udedyig (5565
g F (urse ™



Inventory FIFO, LIFO & Weighted Average

B Nature & types of inventories

i Transactions:
. Wser(purchased goods) prp

= Manufacturer (raw materials, WIP, Finished goods)
— <t

1) Beginning inventory: 100 units at $10 per unit

® Recording & tracking inventory
-m etc... Q’eﬁ in q{H’Ju kd‘) 2) Buy 200 units of inventory for $11 per unit
d g:]séfug}f" o8t necessary 40 bring i 'fw werltory to salesbla 3) Buy 300 units of inventory for $12 per unit
= Periodic vs perpetual inventory 4) Buy 400 units of inventory for $13 per unit

5) Ending inventory: 450 units

® Understand cost flow assumptions

= FIFQ, LIFO. age-cost

B LIFO reserve ’ ]

FIFO b

minsgcuiat

COST OF GOOLS AVAILABLL FOR SALE

Dty 5 o Enplanarion &5 2 Ui e Unlt Ciat: 22 Talal Gt
$10 F
1t 2200
12 300
" 5200

STEF 2 COST OF COODS SOLD STEP 1 ENDING INVENTORY STUP 2 COST OF GOODS SOLD

Unit  Teaal
s Gt

Libk fon sa’e  §12000
N 3 800

Cont ol
owh e

jéud/asw

fff]}
U *L@; 0@ ghoving  Yhg diffecent

FIFO, LIFO & Weighted Average

Welghted Average

HOUSTON ELECTRONICS
Condensed Income Statements

COST OF GOGS AVAILABLE FOR SALE

Date Faplanation Lnits Unit Cost Total Corsd
oo R e b 4 - FIFO LIFO Average Cost
Aug. 24 e > - > -
Now 1) panchese Sales £11,500 $11,500 $11,500
o] : Beginning inventory 1,000 1,000 1,000
STEF 1 ENDING INVENTORY Purchases 11,000 11,000 11.000
stz "J,:’ “{J::J, Cost ol goads available for sale 12,000 12,000 12,000
L:% oot o e sabd 3 4000 Endin enlory 3,800 5,000 5,400
Cost ol goods sold 6,200 7,000 6,600
Gross profit 5,300 4,300 4,900
Operating expenses 2,000 2,000 2,000
Income before income taxes 3,300 2,500 2,900
Inconie tax expense (309) 990 750 870
Net income $2310 $ 1,750 < 2,030
" T




Income Statement Effects %

® In periods of increasing prices
®= FIFO reports the highestnet income
= [JFO the lowest

= average cost falls in the middle.

.;/? f’ah:)/)

® In periods of decreasing prices
= FIFO will report the lowest net income ‘{B{QHM
= LIFO the highest
= average cost in the middle.

_—
T
MITSloan
LIFO Reserve
+ Difference between LIFO & FIFO inventory values
—_——

= Allows comparisen of LIFO & FIFO companies’ inventory
values & CGS

Cndi

FIFQO inventory = L

» FIFO cogs = LIFO cogs - A LIFO reserve

i

@W o b ob ol )o\fgm barly
o gl guartte

albgd to g companies

Plant assets

B Are resources that

* have physical substance
P
* are used in the operations of a business
——
= are nqt intended for sale to customers

* deliver service potential over their useful lives
+ (except land)

(cmé b nat 954 Jep/e,o:dﬁ&

([T

Balance Sheet Effects e

In a period of increasing prices, costs allocated to
ending inventory using:

B FIFO will approximate current costs

B LIFO will be significantly understated

et o newr 2dde fnvtrtory

Nature of PP&E %

inventory + LIFO reserve @/ "({lﬂ- ﬂtdl{\"”%)‘}

® Which of the following is not properly classified as
property, plant, and equipment?

" Bglding used as a factory
® Land used in ordinary business operations
= Atruck held for resale by an automobile dealership &

= Land improvement, such as parking lots and fences

loan

Long-term Assets Pt

B Acquisition costs
[

B Depreciation
= Depreciation methods

= Changes in depreciation
® Sales and disposals of long-term assets }Wf{/
e ————
= E.g., additions, write-offs, etc... 6 54[6
® Implications for deferred taxes

B |ntangible assets
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Acquisition Costs Depreciation methods
® What is given up to obtain the asset? B Units of production
= |nclude all costs required to bring the asset into ® Depreciation cost per machine-hr = depreciable basis/service life
serviceable or usable condition and location. (machine-hrs)
—_— = Depreciation Expense = Actual hours used * hourly rate
® pPurchased Assets: Purchase price plus cost to prepare \ ) )
the asset for use | j (l @i/ B Straight-line
] ; S s o
" Inwn in A 7 Depreciation Expense

m '4 l (Acquisilion cost - salvage value) /service life
dig Y

® Self-Constructed Assets
= Direct costs of construction

| |
Wo f“((‘, Accelerated method

= Higher depreciation expense in earlier yrs

® Financing costs
= Interest on funds borrowed to finance construction w
; . [\ ({ " »
nterest (s ¢ ap !5f A
I [ \ \ )‘e ({
ontil ongiubloa s Hinte
Patterns of Depreciation Example - Depreciation changes
® Assumptions C ho{/L5 ¢
= Cost=$100K,SV=0
g Key: ® Initial useful life estimate of 5 years |
S %5000} w== Straight-line = After 2nd year, $30Kimprovementextending useful life by 3 years ,\uj
o = Declining-baknc g . "{_ m‘f
I 4000 - \ — Unus-g;-;act‘nﬁtye = ie. tototalof 8 Of L/"P 4’?
c
% $3.000 - ® Questions
S $2.000 - = Whatis the annual depreciationexpense for eachof the first 2 years?
B $1.000 |- = assume straight-line
5 0 ; - 3 i ; * Whatis book value at the end of 2nd year?
2007 2008 2009 2010 2011 * How do we account for the improvement?
Year * Whatis annual depreciationexpense for years 3 & beyond?
1 I ) el »
QJ[ n Al (hyt
“(why N5 FRL it e
Why s N A
LJ i
A hown ¢ foC ¢
]
Example (cont’d) Example (cont’d)
" Assumptions
" Cost=$100K, SV=0 Cash | PP&E | Acc. Depr =L Ret. Eam
* |nitial useful life estimate of 5 years
* After 2nd year, $30K i ndi ful life by 3
.erm‘my':;rmm improvement exiending use e by 3 years Acquire PP&E _1 00 100
® Whatis annual depreciation expense for the first 2 years?
* $(100-0)/5 = $20K Yr 1 Depr. -20 -20
" What is book value at the end of 2nd year?
Yr 2 Depr =20 -20

= $[100-(20"2)] K =$60k
® How do we account for the improvement?
= Capitalizethe improvementcosts. BV increasesto $(60+30)= 90K
® What is annual depreciation expense for years 3 and beyond?
= Yearsleft=(52)+3=6
= Therefore, depreciationexpense = $90K/6 = $15 n

Improvement | 30 +30

Year 3 Depr. -15 -15
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Disposal of PP&E - Example

From earlier example:

Cost = $100K, SV =0, Initial UL estimate of 5 years.
After 2nd year, spend $30K on improvement that
extends UL by 3 years (i.e., to total of 8).

At end of 7th year, when BV is $15K, sell asset for
scrap value of $2K.

Disposal of PP&E - Example @

Cash PP&E Acc. Depr =L Ret. Eam
EB- Year 7 130 -115
Prior to sale
Sale 2 | -130 115 -13
=g
EB - Year7 0 0o |
After sale
Loss on sale

-
[T
- MiTSiosn - -
Disposal — T- Accounts Disposal — Book Keeping
. - Dr Cash 2K
i ; Book value at time of sale =15 !
GRGSPRAE T e s Dr Loss on sale of asset 13k QC ﬁ{,wj’
130| 430 15| M5 Dr Acc. Depreciation 115k
Cr PP&E 130k
Cash Loss on salg (RE)
2k 13k
of the
& becat b
- /1/ -
[T [T
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Tax & Timing Effects
Cooke Company bought a $90,000 asset at the beginning of 2000.

’f_-"imniamponing

3 years

-2 years
Straight line @? 0%, um
Schedule of depreciation A V?{VM ) 0'{:

Tax reporting
ottt

Asset life
Depreciation rate

Residual value S0

Year Financial Tax Depreciation Accumulated
reporting reporting difference difference, ac{g ed
depreciation  depreciation end of the year
2000 30,000 54,000 24,000 24,000
2001 30,000 36,000 6,000 30,000
2002 30,000 (30,000) ]

Deferred Taxes Example
® |n 2000, income before depreciation is $80,000 for both

financial and tax reporting. The tax rate is 30% with no

anticipated change.

Financial reporting Tax reporting
NI before Depr. 80,000 80,000
- Depreciation 30,000 -54,000
= NI before taxes 50,000 26 000
x 30%
Tax Payable
Tax Expense 15,000

Tax Expense = Tax Payable + ?"'?
7?77 = $7,200 is “Deferred Tax Expense”
Entry?

Dr Tax Expense $15,000

Cr Tax Payable $7.,800
Deferred T@ 7,200 =
dae s

\
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Deferred Taxes over Time Intangible Assets
Deferred taxes caused by timing differences are temporary; B |ntangible assets are rWt
they reverse over time.
L. i ® |f the intangible has a limited useful life, its costis
B 1 ) e e L R e i allocated (amortized) over the useful life (e.g.,
2001 30,000 36,000 6,000 1,800 30,000 9,000 patent)_
2002 30,000 - (30,000) (9,000) [/} 1]
® Timing differences that create / increase deferred taxes are ’ i . s b a R
calledgoriginaﬁng differences B |f the intangible has an indefinite life, it is not
amortized (e.g., goodwill). 3
® Timing differences that remove / decrease deferred taxes —_—

are called reversing differences

r ,,
\ots of J boent Yo ednonts | ondlohs e e 'ty
We e Of\ly c{a‘(/ﬁ dgp/@o('q} (/0 To ﬂ@ e ot LA

i 4y I
Intangible Assets Long-Term Debt
Type Life Valuation Amortization
= < B Present & future value calculations

Patents &
Copyrights

Useful Acquisition Remaining life
Life & Defense Cost . y )
® Accounting for long-term debt (discount/premium)

Trademark Indefinite Acquisition None
—_— & Defense Cost e
i e it o B Retirement of long-term debt
Franchises Limited Acquisition Cost  Limited life .
& Licenses Indefinite Acquisition Cost None lf] oql ﬁo n"/! ][ 0’ {q
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Financial Tables Example 1: Bond issued at par
Appendix A ® Suppose the following bond:
Table A1 - Future Value of $1 = Coupon rate of 6% per year
Table A2 - Present Value of $1 ® Three annual payments
St
Table A3 - Present Value of an Annuity of $1 s sl e
three years
= Assume market rate is 6% "a
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® What is the present value of the bond?
= $10,000
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Bond issued at a Discount
Coupon rate 6% < Market rate at issuance 8%

Bond issued at a Discount
Coupon rate 6% < Market rate at issuance 8%

® What is the present value of the bond?

" Payment stream
* Interest payments = Coupon rate x Face Value= $600
= Principal at maturity = $10,000

" Present Value
= PV of cash flows discounted at the MARKET interest rate of 8%

= Coupon payments (lable 4)
* PVOA (n=3,r = B%) x $600 = 2.57710 x 600 = $1,546.26

= Principal (table 3
+ PV of (10,000, n = 3, r = 8%) = 0.79383 x 10,000 = $7,938.30

* Total = $9,484.56

= Bond Payable $10,000.00
» Less Discount (515.44) C
= Net Bond Payable $9,484.56 ar
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Bond issued at a Discount
Coupon rate 6% < Market rate at issuance 8%

ENTRIES
Cash = [Bond Payable - Discount =] NBP
Issue 9,485 = [ 10,000 -515 =] 9485
Cash = [Bond Payable -Discount =] NBP + RE
2001 (600) = 159 9,643 (759)
2002 (600) = 171 9,815 (771)
2003 (600) = 185 10,000 (785)
(10,000) (10,000)
=
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Leasing

« Two types of leases
+ Operating
- Lessee rents property and accrues lease

== T ok

* Lessee economically “owns” property
—

+ Capital

» Lessee records asset on balance sheet along
with lease obligation

+ The expenses for a capital lease are depreciation
+ interest
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® At the end of first year

" Interest expense
= Net Bond Payable x 8%

= $9484.56x 8% =$758.77
=

Dr Interest expense 758,77

Cr Cash
Cr Discount on Bond Payable

600.00 (
w1 cedie (st
® Net Bond Payable = $9484.56 + 158.77 = $9643.33 (_‘)ach
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Other long-term debt

= Should be able to account for
* Bond issued at a premium
= Zero coupon bond
®* Morigage
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Accounting for Operating Leases

* Recorded as a rental of an asset in financial
statements

» When lease agreement is signed and lessee
begins to use asset, no entry is made

- As lease payments are made, cash is
reduced and retained earnings are reduced
(lease expense)



Accounting for Capital Leases

» Recorded as an asset acquisition with 100% debt financing in
financial statements -_——

= When lease agreement is signed and lessee begins to use
asset, present value of lease payments is recorded as asset
and corresponding liability

+ During the lease term:
= Cash reducedas lease paymentsare made
« Lease assetdepreciated => depreciationexpense
« Interestincurred on lease cbligation=> interest expense
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Capital Lease
S LeasedAsset  Acc. Dep = Lease Obligation RE
+30,000 +30,000

S e

Present valueof lease payments at signing

=
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Capital Lease -
Cash LeasedAsset  Acc. Dep. = Lease Obligation RE
+30,000 +30,000
-5,060 -260 4,800
s 1,500 1,500
-5,060 -302 4,758
.2 1,500 1,500

Year 2 decrease inlease obligation Year 2interest 6![;0-':!;0
-5,060- 4,758 (30,000- 260) * 16%
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Operating Lease T Stomn

Year Cash = RE
1 -5,060 -5,060
2 -5,060 -5,060
3 -5,060 -5,060

/

Annual Rent expense

-
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Capital Lease

Cash LeasedAsset Acc. Dep = Lease Obligation RE
+30,000 +30,000

yr 4 5080 -260 -4,800 d@'aﬂd Pd‘d k@e
-1,500 15md€p/€0lﬂh0/)

Year 1 decrease inlease obligation Year'1 interest expense
-5,060- 4,800 (30,000)* 16%

— T
Year 1 depreciation expense
(30,000-0)/ 20
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Capital Lease
Cash LeasedAsset Acc. Dep. = Lease Obligation RE
+30,000 +30,000
-5,060 -260 -4,800
i -1,500 -1,500
Yr.2 -5,060 -302 4,758
& -1,500 -1,500
Yr. 3 -5,060 -350 -4,710
-1,500 ~1,500

Year 3 decrease inlease obligation ch Jinterest nxpm

-5.060- 4,710 (30,000- 260 - 302) * 16%



Contributed Capital: Share Types

Common Stock

Basic residual ownership share in the corporation.
HoldeTs have the right to any. rg&a’%&al value in the firm E%EL
tated obligations are met and ca e on certain corpofate issues.
- Common stock typically has a par value, which is a stated

value on the face of the secunity. Medns ﬂo‘h\il:j +
lue.

- There are shares of common stock that have no par

- Par value has little to no relation to market value.

Other Terminology Related to Stock

Authorized
Amount that gan be issued as stated in thecorporation’s Articles of
Incorporation

Issued i 5k{t ;ACOIW*PC‘.

Number of shares sold to shareholders. There are oftenshares
authorizedto be issu tissued.

Outstanding

Number of shares actually owned by shareholders
[Issued = Qutstanding becaus& Ofshare repurchases

—freanty  Shock

Cash Dividends

A firm has 1,000 shares outstanding & declares a $2 dividend. The
dividend is paid later.

Entry at the time of the dividend declaration

Cash = Dividends Payable + APIC + RE
2,000 (2,000)

Entry at the ime the dividend is paid

Cash = Dividends Payable + APIC + RE
Important Dividend dates:

(2,000) (2,000)
Declaration Date Date of Record { bJ1 p N ? i—cf

Ex-Dividend date Payment Date dr \Le{- N
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Contributed Capital: Share Types
Preferred Stock

General term for a class of (usually nonvoting) stock.

Have preference to common stock in bankruptcy.
Other rights & preferences may include:

—e
_- Dividends a pre-specified dividend stated whenshares are issued. Rights to
annual dividends aretypically first to preferred stock then to common stock

- Cumulative Dividends unpaid dividends accumulate& must be paid before
commen shareholders can receivedividends

- Participating receive a portion of incomein addition to stated dividend
- Convertible can be convertedin common shares at a pre-specified rate
- Callable can be retired by managementat pre-specified price

- Redeemable can be retired by holder at pre-specified price
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Balance Sheet Presentation

Sloan Company

Stockhelders” Equity

_ exanple. hot
fﬁ?ﬁ:ﬁs-mm $ 1,000 t’)‘_ (-OJ(L [ng

Additional paid-in capital 2,000

Total paid-in capital $ 3,000 1
Retained camings 1,500 } {
Total paid-in capital and retained camings $ 4,500

Less Treasury stock (100 shares) 500
Total stockholders’ equity $ 4000

Joumal Entry for Treasury Stock?

Dr Treasury stock $500
Cr Cash

Stock Dividends

Suppose a firm declares a $2,000 stock dividend (500 shares at a market price of $4
per share). A share’s par value is $1.

Cash = Common Stock + APIC + Ret. Earn
L
Stock dividend 500 1500 -2,000 CLL( 0 J‘} (7]( It a?td;ln{[
1

2,000 ea,{f\(d\.?)

Cash dividend -2,000
(Ultimately)

Note: 1. the sum of the equity effects for p stock dividend s zero
2. the cash dividend reduces equity{by $2,000
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Stock Splits

Companies will occasionally “split- their shares. For example, ina 2
for 1 split, shareholders receive 2 shares for each share they own.

The number of shares, the par value and the price per share will
change.

Example: Sloan Co has 1,000 shares outstanding with $1 par value
and a price of $120. What happens when the company executes a 2
for 1 Stock Split?

Shares outstanding goes to 2,000 and par value goes to $0.50

=8

Why do people view stock splits as a good thing?
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Option Valuation

Option Value
Option value
at expiration

Option value
before expiration

Stock Price

=

Exercise price

Accounting Rules for Employee Stock Options

The fair value of the option at grant is expensed over the vesting period with the
other side of the entry being shareholders’ equity

Compensation expense (retained earnings) XXX
Additonal Paid-in Capital (stock options) XXX

When the options are vested and the managers exercise their options at the stated
price, cash 1s received from the managers, treasury stock is usually used for the
shares received by the managers and any differential goes to Additional Paid-in
Capital (APIC)

When employees exercise their options & pay the exercise price the entry is:

Cash XXX
Treasury Stock XXX
APIC XXX

HED

. beokerage fee

Presentation of Other Comprehensive Income

Combined statement of income and comprehensive income

Net sales $xxx
CGS _XXX
Gross profit Sxxx
Operating expenses X0
Income fromoperations  $xxx

Other items XXX
Income before taxes S0

Income tax expense XXX GZL—%

Net income XXX
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Current Accounting Rules for Options

To estimate stock option expense, on the grant date the firm must
determine (estimate) the following

Market price of the stock

Strike price

Time between grant date & exercise date

Risk free interest rate

Expected stock price volatility

Expected dividends

These values are inputs into option pricing formulae that allow the firm
to estimate the fair value of the option on the grant date.
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